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Errata Corrige

Rizzoni, Principles and Applications of Electrical Engineering, 4th Ed.

Chapter 2

	Page
	Correction

	21
	Missing parenthesis in line 6:

(i.e.: a circuit that can absorb and dissipate energy)

	26
	Missing minus sign in line 10:

 I= …..= -1A

	28
	Incorrect labels in Figure 2.13:

The lower twocurrents should be labeled I3 (left)and I4 (right).

	44
	Missing units in Table 2.3:

Diameter per strand (in)

	53
	Focus on Measurements: Resistive Throttle Position Sensor

Functional specifications of throttle position sensor

(new line) Total resistance = Rsensor+ R0 = 12 k
Overall resistance, “Ro        3 to 12 k”: “R0 = 3 k”

Output Vo should be Vsensor
Analysis (all equations have been corrected)

…
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The sensor voltage is …
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The calibration of the …
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	54
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Figure 2.43  (d) calibration curve for throttle position sensor

So if the throttle is closed 


[image: image6.wmf]
and if the throttle is wide open


[image: image7.wmf]

	57
	Check Your Understanding line 4
G = 2 should be GF = 2

	61
	Problem 2.7 does not belong in Sections 2.2, 2.3.  It can be assigned with Sections 2.5-2.6 homework problems.

The first line should read:

Use Kirchhoff’s Current Law and Ohm’s Law to determine…

	62
	Problems 2.7, 2.8, 2.9, 2.10, 2.11, 2.12, 2.13 do not belong in Sections 2.2, 2.3.  They can be assigned with Sections 2.5-2.6 homework problems.

(Same correction as above problem:  add and Ohm’s Law where appropriate)

	63
	Replace Problem 2.19 with the attached statement

A 24-volt automotive battery is connected to two headlights, such that the two loads are in parallel; each of the headlights is intended to be a 75-W load, however, a 100-W headlight is mistakenly installed.  What is the resistance of each headlight, and what is the total resistance seen by the battery?

	63
	Replace Problem 2.19 with the attached statement

What is the equivalent resistance seen by the battery of Problem 2.13 of two 15-W taillights are added (in parallel) to the two 75-W (each) headlights?

	68
	Problem 2.53 

There is nothing wrong with this problem, and the solution in the manual is correct. However, students may be confused by the units:  the distance, x, should be expressed in m, not cm to obtain the correct answer.

It may help to phrase the problem statement as follows:

a.  If the total length of the resistor is 0.02 m and the resistance is …

	69
	Problem 2.54, Figure P2.54

The meter resistance should be described by the symbol rm.

The y-axis units should be mV
The x-axis units should be kPa

	69
	Problem 2.56, Figure P2.56

The meter resistance should be described by the symbol rm.

The y-axis units should be mV
The x-axis units should be kPa


Chapter 3

	Page
	Correction

	74
	Example 3.1, Figure 3.1 (missing label)

The rightmost resistor should be labeled R4 

	80
	Example3.4

Remove the units mA inside the right hand-side vector in the first equation.

	81
	Example 3.5, correct equations for node 2 and node 3:

+ v2/R3 should be  v2/R3 (node 2)

+ v3/R4 should be  v3/R4 (node 3)

	83
	Equation 3.10(b)

 vc/R4 = iS = 0  should be  vc/R4  iS = 0

Equation 3.11 (first line)

 = 0  should be  
[image: image8.wmf]

	84
	Example 3.6

Step3, equation for node 2:

+ v2/R3 should be  v2/R3 (node 2)

	87
	Example 3.7

Step 3, second equation:


[image: image9.wmf] should be 
[image: image10.wmf]
Figure 3.18, analysis of mesh 2

Variable label v1 across resistor R1 is missing.

	88
	Figure 3.20

Bottom resistor is not labeled.  The resistor label should be R5.

	89
	Example 3.9

Mesh 3:


[image: image11.wmf] should be 
[image: image12.wmf]

	90
	Figure 3.21

In the mesh on the right, replace i2 with i1.

Reverse the direction of the current IS.

	90
	Equation 3.17 (second line):


[image: image13.wmf]
should be 
[image: image14.wmf]

[image: image15.wmf]


Equation 3.18:


[image: image16.wmf] should be 
[image: image17.wmf]

	91
	Example 3.11 is replaced by the following example


Example 3.11 Mesh analysis with current sources

Problem:

Find the unknown voltage vx  in the circuit of Figure 3.23. 

	[image: image18.wmf]
Figure 3.23 Illustration of mesh analysis in the presence of current sources 


Solution:
Known quantities:

The values of the voltage sources and of the resistors in the circuit of Figure 3.23:


[image: image19.wmf]
Find:


[image: image20.wmf]
Analysis:

We observe that the second mesh current must be equal to the current source:


[image: image21.wmf]
Thus, the unknown voltage, vx, can be obtained applying KVL to mesh 2:


[image: image22.wmf]
To find the current i1 we apply KVL to mesh 1:


[image: image23.wmf]
but, since 
[image: image24.wmf],


[image: image25.wmf]
Comments

Note that the presence of the current source reduces the number of unknown mesh currents by one,  Thus, we were able to find vx without the need to solve simultaneous equations.

________________________________________________________________________

Check your understanding


	94
	check your understanding

Answer:


[image: image26.wmf] should be 
[image: image27.wmf]

	95
	Example 3.13

In step 3, 

mesh 2:

Rearranging the equation, and substituting the expression v= R2(i1 – i2), we obtain:


[image: image28.wmf]
…

Finally, we can write the system of equations


[image: image29.wmf]
In step 4:


[image: image30.wmf]
…


[image: image31.wmf]
and therefore

i1 = 0.7636

i2 = 0.2909

i3 = -2.2545
…

v2 = R5i3 = R5(-2.2545v1) = (-0.5636) v1

Av = -0.5636
Comments:  The Matlab commands required to obtain the inverse of matrix R are listed below:

R=[1.5 –0.5 0; -1.5 2 -0.25; 1 1.25 0.5];

Rinv=inv(R);

	106
	check your understanding

Answer: RT = 4.23 k; RT = 7.06 k;

	109
	Example 3.20

Schematics, Diagrams…: V = 24V, I = 3 A; R1 = 4 ; R2 = 12 ; R3 = 6 .

	113
	Figure 3.61:  missing R symbol above resistor in Thevenin sub-circuit.

	120
	Example 3.23, last equation on p. 120:


[image: image32.wmf] should be 
[image: image33.wmf]

	129
	Problem 3.20

Replace FigureP3.20 with the following:

[image: image34.wmf]
Figure P3.20

	
	


Chapter 4

	Page
	Correction

	141
	Example 4.1, last equation:


[image: image35.wmf] should be 
[image: image36.wmf]

	152
	Figure 4.14

The line showing vL(t) for 9 < t ≤ 13 ms should be at –0.25 V (instead of –0.3 V)

	153
	check your understanding

The x-axis label in the (upside-down) graph at the top of the pages should be “ms” instead of “s”.

	155
	check your understanding

Answer:

Second line should read  0.156t2 – (2.510-3)t + 10-6        2 ≤ t < 6 ms


	158
	check your understanding

Answer:  v(t) = 155.6cos(377t);….

	160
	Example 4.9, second line of equation:


[image: image37.wmf] should be 
[image: image38.wmf]

	161
	Equation 4.31

vS(t) + vR(t) + vC(t) = 0  should be vS(t) + vR(t) + vC(t) = 0

Equation 4.32

vS(t) should be vS(t)

	161
	Equation 4.34


[image: image39.wmf] should be 
[image: image40.wmf]

	166
	check your understanding

Clarification: the units of the angle in the answer are radians

	178
	Example 4.15, numerical equation for Yab:


[image: image41.wmf] should be 
[image: image42.wmf]
The remainder of the calculations are correct.

	180
	Example 4.16

Known quantities: …  = 377 rad/s; …

	181
	Example 4.16

Starting with the first line in which numerical values are substituted in the symbolic expression, replace all equations with the following:


[image: image43.wmf]
Step 5: Finally, we convert the answer to time-domain notation:

iS(t) = 0.1681cos(377t+0.4537)

	182
	check your understanding

Replace A =1 with A = 10.

	185
	Example 4.18

In the expressions for I1 and I2, the phase angle “0.079” should be “0.079”.

The calculations are correct.

	187
	Example 4.20

Let the two frequencies be 103 Hz and 106 Hz (instead of rad/s).

	188
	Example 4.20, expressions for ZT:

a. 
[image: image44.wmf]
b. 
[image: image45.wmf]

	189
	Example 4.21

Step 1: vS(t) = 15cos(1500t)

	189
	Example 4.21

Step 4:  the equation for mesh 2 has a sign error; it should read


[image: image46.wmf]
As a result, all of the calculations are incorrect, and are replaced by the following:


[image: image47.wmf]
Now we substitute the impedance values in the above expressions:


[image: image48.wmf]
and use numerical values to obtain:


[image: image49.wmf]
STEP 5

Finally, we express the resulting phasor currents in time-domain form:


[image: image50.wmf]

	191
	Problem 4.7:

i(t) should read v(t).  Also, replace the current source with a voltage source in Figure P.4.7.

	194
	Problem 4.32

In FigureP4.32, the period of the waveform should be 4 ms.

	194
	Problem 4.33 – same as above.

	199
	Problem 4.69

v1(t) and v2(t) should read vS1(t) and vS2(t)


Chapter 5

	Page
	Correction

	206
	Equation 5.9


[image: image51.wmf] should be 
[image: image52.wmf]

	209
	Second equation (above eq. 5.16)

Remove “dst” in front of 
[image: image53.wmf]

	211
	Example 5.3


[image: image54.wmf] should be 
[image: image55.wmf]
the numerical calculations are correct.

	211
	Example 5.4

Problem

“Determine the capacitor voltage” should read “Determine the inductor current”

	212
	Example 5.4


[image: image56.wmf] should be 
[image: image57.wmf]

	223
	Example 5.9

Step 2: Initial condition


[image: image58.wmf] (instead of 12.5 A)

The rest of the example is correct.

	227
	Figure 5.29

Caption should read “Circuit for Example 5.10”

	242
	Equation 5.56

The subscripts on 1 and 2 should be switched around.


[image: image59.wmf]

	242
	Equation 5.57

Since  = 1 for a critically damped circuit, the symbol zeta can be removed from the exponents, and from the expression for 


[image: image60.wmf]


	243
	Equation 5.59

t is missing in the exponent:


[image: image61.wmf]

	249
	Example 5.15

Last equation in Step 2

[image: image62.wmf] should be 
[image: image63.wmf]

	250
	Example 5.15

In Step 6:


[image: image64.wmf]
and


[image: image65.wmf]

	250
	Figure 5.53

The y-axis label should read Voltage, V.

The scale multiplier should be 103 instead of 10-3.

	253
	Example 5.16, Figure 5.55

The scale on the y axis should be divided by 40; from the top:

0.05, 0.0375, 0.025, 0.0125, 0, …

The figure caption should read “Complete response of underdamped second-order circuit”

	266
	Problem 5.66

The capacitance value should be C = 1.6 nF.


Chapter 6

	Page
	Correction

	297
	Equation 6.45


[image: image66.wmf]

	299
	Example 6.11  last two lines 


[image: image67.wmf] should read 
[image: image68.wmf]

	323
	Problem 6.54

The reference to Figure P6.54 should read Figure P6.53.


Chapter 7

	Page
	Correction

	335
	Example 7.3

In the symbolic equation for ZL

[image: image69.wmf] should be 
[image: image70.wmf]
The final answer is correct.

	357
	CHECK YOUR UNDERSTANDING

With reference to Example 7.12, compute the number of primary…

	362
	Example 7.14

A “squared” symbol is missing in two places.  The last five lines should be replaced with the following:

and we can calculate the load power as


[image: image71.wmf]
Finally, the power efficiency can be computed as the ratio of the load to source power:


[image: image72.wmf]

	378
	Problem 7.2

“1000 W at 240 V” should read “1000 W at 240 Vrms”


Chapter 8

	Page
	Correction

	394
	Equation 8.19


[image: image73.wmf] should be 
[image: image74.wmf]

	439
	Figure 8.54

The x-axis label should read “t, s”

	447
	Problem 8.1

Gm2 = 350 mS
In Figure 8.1, the symbols and subscripts for the two controlled sources should be corrected as shown below:

[image: image75.wmf]    [image: image76.wmf]

	447
	Problem 8.2

In Figure P8.2, the controlled voltage source should appear as shown below.

[image: image77.wmf]

	447
	Problem 8.3

In Figure P8.3, the symbols and subscripts for the controlled sources should be corrected as shown below:

[image: image78.wmf]    [image: image79.wmf]

	451
	Problem 8.26

The input current to the op-amp should be labeled IB, not IR.


Chapter 9

	Page
	Correction

	463
	…The net effect is that a small reverse saturation current, IS flows through the junction in the reverse direction (to the left) when the diode is reverse biased.  (add text shown in red)

	463
	…This current across the junction flows opposite to the reverse saturation drift current, and is called diffusion current, Id.

	463
	Figure 9.6 illustrates this process for a diode in equilibrium, with no bias applied.

	463
	Equation 9.4

iD = -I0 = IS

while the reverse saturation current above is actually a minority carrier drift current.

	465
	Figure 9.10

The flat portion of the curve should be moved slightly below the x axis to the value -I0.

	508
	Problem 9.10

Move the statement “Use V = 0.7 V” to the end of the first paragraph (problem statement)

	510
	Problem 9.24

The last sentence should read “…the AC current through it”.


Chapter 10

	Page
	Correction

	538
	Figure 10.25

The labels 42.5  should be replace by the symbol RC (twice).

	539
	check your understanding

What is the power dissipated by the LED in Example 10.7 if …

	540
	focus on measurements Large–Signal Amplifier for Diode Thermometer.  Figure 10.26 should  be corrected as shown below

[image: image80.wmf]

	541
	focus on measurements Large–Signal Amplifier for Diode Thermometer, expression for RC:


[image: image81.wmf]


Chapter 11

	Page
	Correction

	569
	Example 11.17

Analysis

1. Correct.

2. Correct.  Add the statement “Thus, vout = 0”.
3. This statement is wrong.  It should read:

v1 = 5 V, v2 = 0 V.  By symmetry with case 2, we conclude that vout = 0.
4.   This is all wrong.  Replace the entire point 4. with the following paragraph:

v1 = 5 V, v2 = 5 V.  Now both M1 and M2 are open circuits, and therefore vout = 0.

	570
	All text between “however,” and “0.16 V” should be deleted.

The table should be replaced with the following:

v1

v2
M1
M2
M3
M4
vout
0 V

0 V

on

on

on

off

5 V

0 V

5 V

on

off

off

off

0 V

5 V

0 V

off

on

off

on

0 V

5 V

5 V

off

off

on

on

0 V

Thus, the gate is a NOR gate.

	575
	Problem 11.12

Determine the Q point and operating region for the MOSFET in the circuit of Figure 11.12 in the text.


Chapter 12

	Page
	Correction

	
	


Chapter 13

	Page
	Correction

	617
	check your understanding

Answers: c) 1000000000, d) 0.011100101001, … f) 0.212890625

	624
	check your understanding

Answers: b) 000101000111


Chapter 14

	Page
	Correction

	669
	Circuit and timing diagram are reported to be incorrect (?) a correction will be issued as soon as possible, if needed.


Chapter 15

	Page
	Correction

	
	


Chapter 16

	Page
	Correction

	
	


Chapter 17

	Page
	Correction


Chapter 18

	Page
	Correction

	
	


Appendix A, B, C

	Page
	Correction

	963
	Problem A3

Answer: 
[image: image82.wmf] should be 
[image: image83.wmf]

	966
	Example A.4

Solution

(a) (second line)


[image: image84.wmf]  should be 
[image: image85.wmf]

	978
	Example B.6 (last equation)

[image: image86.wmf]  should be 
[image: image87.wmf]

	982
	check your understanding

C.2 answer d. should be 8 V, not 4 V.  This same correction should be applied to the solution (upside down text on the same page)

	983
	check your understanding

Second instance, at the bottom of the page. 

C.6 answer a. should be 50 W instead of 250 W.

	984
	Same as above in the solution (upside down text on the same page)


Appendix D

	994
	Corrections to Chapter 2 answers (only the correct answer is listed below)

2.36 a. I = 6.09 A

2.51 VAB= -12 V

2.54 b. Rseries = 800     c. 20 to 100 kPa

2.57 should read 2.56

2.65  F = 19.97 kN

	994
	Corrections to Chapter 3 answers (only the correct answer is listed below)

3.3  i1= 0.5 A; i2= 0.5 A

3.5  i = 0.491 A

3.14  v = 1.09 V

3.17  i = 0.491 A

3.26  in the numerator determinant, parentheses should be removed from the entry in the (2,1) position, so that it reads –VS2 +VS3.

3.36  IR1 = 54.25 A

	995
	Corrections to Chapter 4 answers (only the correct answer is listed below)

4.4
[image: image88.wmf]
4.7 
[image: image89.wmf]
4.36 
[image: image90.wmf]
4.69  L1 = 98.29 mH; C2 = 112.2 F; L3 = 77.37 mH; R3 = 29.11 .

	998
	Corrections to Chapter 8 answers (only the correct answer is listed below)

8.51 
[image: image91.wmf]

	1000
	Corrections to Chapter 13 answers (only the correct answer is listed below)

13.6  a.  11100;  b. 1101110; c. 1000.

13.14  
[image: image92.wmf]


Find the value of the current i1 if the value of the current source is changed to 1 A.


ANSWER: 1.71 A








PAGE  
1

_977280184.unknown

_977365476.unknown

_977366459.unknown

_977452859.unknown

_977453196.unknown

_977454410.unknown

_977455594.unknown

_977455694.unknown

_977454754.unknown

_977455589.unknown

_977454576.unknown

_977454093.unknown

_977454297.unknown

_977453295.unknown

_977453139.unknown

_977453148.unknown

_977452945.unknown

_977367228.unknown

_977367497.unknown

_977451827.unknown

_977367448.unknown

_977366995.unknown

_977367227.unknown

_977366972.unknown

_977366126.unknown

_977366341.unknown

_977366430.unknown

_977366257.unknown

_977365948.unknown

_977366017.unknown

_977365590.unknown

_977282353.unknown

_977364997.unknown

_977365232.unknown

_977365343.unknown

_977365154.unknown

_977364805.unknown

_977364918.unknown

_977282376.unknown

_977281480.unknown

_977282063.unknown

_977282352.unknown

_977281805.unknown

_977280941.unknown

_977281479.unknown

_977280245.unknown

_977195256.unknown

_977277579.unknown

_977279599.unknown

_977280018.unknown

_977280030.unknown

_977279726.unknown

_977278688.unknown

_977278736.unknown

_977277675.unknown

_977195952.unknown

_977196478.unknown

_977196703.unknown

_977196233.unknown

_977195691.unknown

_977195709.unknown

_977195386.unknown

_977193734.unknown

_977194202.unknown

_977194236.unknown

_977194935.unknown

_977194242.unknown

_977194847.unknown

_977194217.unknown

_977194235.unknown

_977193990.unknown

_977194013.unknown

_977193954.unknown

_977136709.unknown

_977137204.unknown

_977193378.unknown

_977137043.unknown

_977136346.unknown

_977136577.unknown

_934600578.unknown

_977136275.unknown

_934600513.unknown

